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5) The senior classes at High School A and High School B planned separate trips to tl
senior class at High School A rented and filled 2 vans and 1 bus with 59 students. |
and filled 6 vans and 12 buses with 474 students. Each van and each bus carried th

students Find the number of students in.ecach van and 1n eac bus

| el = %WW%WWW@U\ AN

]

Hhe nu wp/\m%%ww\m
O2ytly =59 —lsx A~~-7O€—-=---~“V7"r ?-Odr =D

Q;;g@ Ve /-"‘?;]@riﬁw\

@6@ L —“%7 —(&x = 239 2 9%;%97

= \g
=R}

Zion ﬁ%ﬂ% ““'%ﬁ

74’%@ | )J:«ﬁ’_di ﬁT

CaAlhYAN 4
\ﬂ?oxch%

el | @@ | 5B

A D s



=18 x|

¥ Directions ¥ Changing questions hides answers ~ More like these | — Jump | — |1—L.||:| ;I
, i

6) Shayna and Jessica are selling fruit for a school fundraiser. Customers can buy sm.
and large boxes of oranges. Shayna sold 8 small boxes of oranges and 13 large bo>
total 0oft$336.) Jessica sold 4 small boxes of oranges and 4 large boxes of oranges f
Find the cost each of one small box of oranges and one large box of oranges.
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Solve each system by elimination.
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Solve each system by elimination.

Q) Tx+7y=28 ¥
8x+3y=-10*T
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